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PUT ot poT PoT pusT  Peor
1 2 3 4 5 3 )(*r(b’\t""“"""
T3R1 __ |moisture % 205 e 1938 24N [ 230 | 24M zﬁ L?;_
test weight Ibs/Bu_| " '.% N2 vl [4AR [Spa |yg (4O
T3R2 _ |moisture % 3 }7-1'& | 235 228|221 224 252
test weight Ibs/Bu 40%‘”?‘5 HeZ 513|9VS [ SDY [yq.2
T3R3 __ |moisture % 23%2124.5|250 (954 (23 .\ | 20,6
test weight Ibs/Bu SUBINT-b HES L\f{ L{&“] S0
T3R4 __|moisture % 22\ 208 | 226 2aM | 1A 200
testweight lbs/Bu | 671|902 | 51.0 | 5\2 U] |52.0
T3R5 |moisture % 202 (225 | 232 |\asm | 226 | 22 HLZ__’L-.E‘&H
testweight bsBu | 5371 [ 52°© |9 | s |51 | 0.5 |52 ’
T3R6 moisture % 35 gieed || g 2‘-,\.1' 252 |20.\
testweight lbBu | S0 | | ST [ SLB |UTT |ugs | sss
T4R1_ |moisture % Wz VT | Wl | ALS | WS | VM
test weight lbs/Bu | 2V | SE.T 5%.3 Gl.o |55.0 |55S
T4R2 moisture % By (13T 3.6 | 119 VL8 | Yl
testweight lbs/Bu | 965 | Sb.0 [ SUS |SSip |55.6 [53.8
T4R3  |moisture % s T O e IO S T e R B TR
testweight bs/gu | 2L+l 970 | 55.9 | 580 | sS4 | 7Y
T4R4  |moisture % 134 | B Vo [ vl | w8 (W2
testweight bs/By | 262 |53 | 513 |s1b [s53 | 869
TARS _|moisture % 175 [\ele [\G.T @1113 T\ [V
testweight Ibs/Bu | 05:© |53 (535 | St.6 |5 2.%3|5\.%
T4R6  |moisture % .3 [ | B | V3T IS [ ys
testweight lbs/Bu | © & [SG.lo [557T | 58S |55 [St.2
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